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5120 RETURN XX -1, YYD ) :PRESET (XXMD),YY
£200 IF IP ¢ =250 THEN X2(KD) =XX{IP):Y2 | M-1)

(K1) -'!'Y(IP) +2 ELSE IF TP < =500 8050 NEXT

THEN X2(K1) =X2(IP - 2500 Y2(KD = Y2 8060 IF NP ¢ =250 THEN 8160

(IP-250) +2 ELSE XZ(KI) ~X2(IP-500) 8120 FOR I=1 TO N2

V2K =Y 6130 PRESET (X2(I),Y2(l) ) :PRESET(XX(I1)
5220 RETURN +1,YY(I) ) :PRESET (X2(I), Y2(I) +1)
5300 IF IP ¢ =250 THEN X3(K1) =XX{P):Y3 6132 PRESET (X2(I) +1,Y2¢D) +1) :PRESET

(K1) =YY (P) +2 ELSE IF IP ¢ =500 (XX -1,YYMD ) :PRESET (X2(D),Y2

THEN X3(K1) =X2¢IP - 250):Y3(K1) = Y2 M-

(IP-250)+2 ELSE X3(K1)=X3(IP-500 8150 NEXT

S YED =Y yf‘f 6160 I} NP ¢ =500 THEN 6300

$320 RETURN . _. 8220 FOR I=1 TO N3

6015 IF NP =250 Tmm NP:N2=0:N3=9 ! g3y PRESET (X3(D),Y3(D)) :PRESET (XX
ELSE IF NP < =500 THEN N1=250: N2= (D +1,YY(D ) :PRESET(X3(1),Y3(D) +1)
NP-250:N3=0 ELSE N1=250:N2=250:N3 | go55 PRESET (X3(I) +1,Y3()+1) :PRESET

= NP-500 (XXM -1,YYd) ) :PRESET (X3(1),Y3
$020 FOR I=1 TO N1 -1

6045 PRESET (XX(D,YY(D) :PRESET (XX | o0 NEXT
(D +1,YY (D) +PRESET (XX (D, YYD +1 | cao0 peripy
48 PRESET (XX(D) +1, YY(D)+1) :PRESET
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